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(1, What is the time now?

N T30, B, 8.00, C.

o

(12, What dose the man mean?
A. He doesn’t live in the school any more.
B. He’s busy moving into a new room,
(. He came back to school this term.
(3. Why 1s Tom being invited to the party?
AL Because Tom likes the woman
B. Because the man’s mother likes him,
(. Because Tom is the man’s good friend.
(1. What does the woman think about David?
A. He enjoys watching people dance,
B. He might not really like dancing.
C. He dances very well,
()5, What did the woman think of the concert?
AL She liked it
B. She thought it was a waste of time,
C. She thought i1 was boring,
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(6. Why does the man think it is bad 10 take a taxi at [irst?

A. Because these suitcases are not heavy.
B. Because there are just a few suitcases,
(. Because the traffic is heavy now.
(  )7. What is the relationship of the two speakers?
A. Strangers, B. Friends. C. Porter(#iz 1) and client (& J0).

Wrefs 7 BoppRh, S 8 25 10 ML

()8 What is the reservation the man has made?
A, Three single rooms and one double.
B. Three single rooms and two double rooms.,

C. Two double rooms and one single room.
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)9, Which room is the single one?
A. No. 5. b, Noo 7. C. Nooob,
110, What is the man’s order of drink”
AL Two colfee and two lemonades,
B, Three coffee and three lemonades,
C. Two coffee and three lemonades,
WEES 8 Bebf Rl nl7Ees 11 425 13 10,
111, Where does the conversation most likely take place?
AL At the airport, 13, At the restaurant, . At a hotel

112, What is the purpose of the man™s visit?

AL Visiting {riends. 13, Going sightseeing, C. Deing on Business,
)13, What article 1= NOT mentioned in the 1alk?
AL Clothes. I3, Wine. . Camera,

WPEE O Bl el 25 oy 11 225 16 Jn,
y14. How many stops are there to Havfield Road?
AL Five, B. Four. . Three.
)15, Why does the womar think it is no trouble to show the man the way?
AL Because she will have 1o go past there,
B. Because she hive there
(. Because she works nearby there.
116, What is the relationship between the man and the woman?
AL Friends. I3, Passenger and conductor, (", Strangers,
PSS 10 B R U5 17 429805 20 L,
317, What did the KFC advert promote?
A. A kind of chicken. B, A kind of salad. C. A kind of {ried chops.
)18, Why did most people complain the advert of the KIF(™?
A, Because it set a bad example 1o children,
I3, Because it was too humorous,

C. Because it placed call-center employees in a bad hight,

Qo

. How did the ASA respond 1o the complaints?
A, They would charge the KFC,
B. They would stop the ads.
. They would do nothing,
120, How many objections came down last vear compared with the year 20047

AL 085, BB, 558, L850,
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(1. How much was the driver’s up?

A Sa 0. 15 S0,0, C. S5,

(7. What does the man mean?
A. He has another meeting to attend on that day.
I3, He 1s OK either day.
(. He can’t attend a four day conference,
(3. Where does this conversation most hkely take place?
AL At a flower shop.
B. In a garden.
. At a post office,
¢ 11 What was the woman s reaction to the building of the chemical plant?
A. She agrees to it
3. She doesn’t agree 1o it
(. She has no opinion,
¢ 5. How would Jack get to the United States?
A. He'll go by plane, B, He ll go by train, . He’ll go by bus,
WL 0 R A S B R BB T e (7L A/ MO R e e ALBLC
A PRI B T ‘Ffli 1'!{ YR O AL (0 L T g BT B8 ol B 11 AR AT I D) () 3 75 1
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( )h. ]':n‘ which date does Smith want to make a reservation of tickeis to San Francisco?
A. June 61h, 2. July 6t C. June Toth
¢ 7. How much is the round trip from New York to San Francisco?
AL S3slo. B. %320, C. % asn,
WPes 7 EERAR . RS 8 AN 10 R
(38 Which month is it most likely now?
January. B. March. . June,
(39 What season was the BEST season last vear?
A, Spring. B. Summer. ¢, Autunu
()10, When was the nicest period last year:
A. September and October.
B. October and November.
C. March and April.
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111, Why does the woman refuse to exchange the shoes for the man?

AL Because the man has kept the shoes for a week,
B. Because the man had no receipt for the shoes,
C. Because there is a sign reading “No exchange after the shoes are sold, 7,
)12, What causes the woman to turn down refunding the man?
AL Her m:ln:sgt'r'r& order.
B. Her unknowing the price.
C. Her unknowing whose {ault it is.
)13, When did the man buy that pair of shoes?
AL Last week, B, Last weekend. . Yesterday,
PSS O BopURL [IESS 14 208 16 1
114, How many people considered their pets to be more important than their families?
AL .\j!‘il]‘l}’ half of pet owners,
3. Five per cent of pet owners,
. A fifth of pet owners,
115, Why are some owners planning to leave money?
A. Because they are afraid of the long hospital bill when they re sick,
3. Because they are afraid of paving much money for their children”s education,
C. Because they are alraid of nobody taking care of their pets after they died,
)16, What rea

A. The company (51 of a beloved cat or dog.

ly makes a difference 1o the qLJ;l]il\,' of life of many ]J:_‘n[,-'.l-'_’

B. The company of the Man.

C. The company ol the wife,
WSS 10 Brpp R, 2555 17 22545 20 14,
317, What have the French turned steadily away from?

AL Coffee. 5. Bed . Bread.
118, How many countries are mentioned in the text?

A, Five, B. Four. . Three,
)19, What was the French daily consumption per person belore 19147

AL TO0 grams, B. 230 grams. C. (00 grams.
120. Who is the prize winning baker?

AL Gerard Brochoire. B, Chrstian Vabret, CoA German
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{1, What does the woman mean?
A. She has pencils and papers for him,
B. They want to do homework together after class,
(. She can give her notes to the man.
(2. Where 1s Lucy now?
A, In the hospital. B. In the office, C. At Bill"s home.
(3. What does the woman mean?
A, Tom is too tired to study any more,
B. She told Tom not to study late at night.
(. She had often advised Tom 1o study hard,
(4. What did he think of his teacher?
AL She alwavs speaks quickly.
B. She always speaks slowly,
(. Sometimes she speaks quickly and he doesn ™t catch her.
¢ 45 How did the man find the dress?
A) Tt was good.
B It looked like a match.
) Tt was the wrong color.
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(A, What is wrong with the man?

A. The man has a headache.
B. The man has a toothache
C. There is nothing wrong with him.
(7. What is the possible relationship between the two?
A, Doctor and patient,
B. Friends.
C. Man and wife,

S 7 BLBERL I § 4 10 1

()8 What will the man do this ."\.'uu:'d;:._v morning?

AL Go to a state usedn.
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B3, Go swimming in the river,
C. Take a boat trip down the river.
)9, What will Betty bring to go with the man?
A, Some money. B. Some guide books. (. Some food for lunch.
)10. Who 1s very familiar with the place?
A. The man. B, The woman, (. The man”= uncle.
WSS 8 Brpp kL. 2058 11 AN 13
)11, What is the woman most likelv 1o be?
A. A policewoman. B. A passer-by. . The man’"s friend.
112, What does the man just remember near the hotel?
A, Supermarket. B. Book stores, . Fashion shops.
)13, Which of the following 1s TRUE after the talk?
A, The man just arrived and can’t find his hotel.
B. The hotel has an Enghish name,
C. The man left the hotel and got lost.
Wrefs 9 BOBPEE IS 14 3255 16 f
)14, What do some smokers hope?
AL Antioxidants (5L % f£ F)) and other vitamins seem to offer protection against lung
cancer,
B. Antioxidants and other vitamins seem 1o offer no protection against lung cancer.
C. Antioxidants and other vitamins seem to offer no protection against stomach cancer,
115, How many vears did the siadies follow thousands of adulis?
A. More than 6 vears, B. More than 13 vears. C. Upto 16 years.
)16, What is the popular notionCl %) of smoking?
A, Smokers can ward off (Jjj 1} Y lung cancer by taking vitamin supplements,
B. Smokers cannot ward off lung cancer by taking vitamin supplements,
C. Neither A or B.
P 10 BLBPK IS 17 55265 20
117. What does the H]JL‘IlkL:T want to It'“ the listeners about?
A. How monev came into being.
B. The kind of things which served as money in the past.
C. How the value of money was decided.
)18, Which of the following might have been used for money by ecarly Japanese?
A. Tea B. Salt, C. Nuis,
)19, What was the common character of the things used for money?
A. They were dilficult 10 get.
B. They had some practical use,
C. They were considered valuable by all people.
)20, Who were the first people 10 use coin money?

A. Europeans. B. American Indians. C. Chinese,
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¢ 1. How does the man feel now?

AL Heis angry. 3. He is worried. C. He is confident.
(2. What does the woman imply?

A. The team has to travel far for the next game.

B. The new coach has been very good.

C. The new coach doesn’t know the team very well.
(3., Who is the woman?

A, A shopkeeper, B. A bank clerk. C. A driver.
¢ 4. What can we learn from the conversation?

A) Someone is waiting for him.

I3) The man enjoys his trip,

() The man is going to call the woman tomorrow.
¢ 35, Which of the following statements is the man’s meaning?

A) Tt is good to save money for the family.

B It is good 1o buy a new car.

() Tt is good to get a second car,

Sl RS N (| ' O UYL R LS N T B 0 o I A LS A MR T A AL BLC
A 0 O I £ A 2 R O G s T A A I T Bl 125
WL RN S L WSS /N A S R R R BRI I I o

WA 6 FLBFRE. [ 4 6 Fnes 7
¢ 6. Which would the woman like to apply for next year?

AL Economics, B. Engineering. (', Srience.
¢ 7. What s the purpose of the woman talking with the man?

A. For a good record of her studies this vear.

B. For a recommendation of him,

C. To get some advises about the recommendation,

W 7 BRI 8 B4 10 8,

(& Where does the conversation most likely take place 7

A, At the supermarket, . At the airport, C. At the post office.
(19, When will David meet them?

A. At three o clock. B. At two thirty, C. At two fortw.
()10, What does the man think of the way the system works?

A, Good. B, Flexible. (. Unreasonable.
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V1L

)12,

What is the function of the video game?

A. To help the older people sharpen their minds,

B. To amuse the older people.

C, To cure the sick older people.

How old people is the first video game to be amed at?
A, The over-50s,

B, The over-15s.

C. The over-60s,

. When was the video game launched in Japan?

AL In mid-May,
B. Under a year ago.

C. More than a vear ago.

UFHS 9 BEBERY. WIS 14 4055 16 .

IR

AR

J16.

How much 1s the fare for a single ticket?

AL Seventy cents, B. Seventy-five cents, C. One dollar twenty,
Which platform will the train leave from?

AL 18, .17, C. 16.

Where will the two people meet?

A. The gate of the station.

B. The entrance to the platform.

C. At the bus stop.

W4 10 BEBERY 505 17 450 20 491,

117,

)18,

)14,

120,

What does the passage mainly discuss?

A, Tow types of only children.

B. Parents’ responsibilities.

(. The relationship between parents and children.

Who are likely to treat their only childien as “special jewels™?

AL Those who are themselves spoiled and serf-centered,

B. Those who expected to have several children but could only have one.
(. Those who like to give expensive jewels to their children.

Why do some only children become “little adults™

AL Because they have nobody to play with,

B. Because their parents are too strict with them in their education,
C. Because their parents want them to grow up as fast as possible,
Why do some only children {eel unhappy?

A, They have no sisters or brothers,

B. They are overprotected by their parents,

(. Their parents expect too much of them,
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(1. Where does the conversation 1ake place?
AL At a train station, B, In a hotel. C. At an arport.
(2. What do we learn from the woman’s speech?
A. She is not feeling very well.
B. She is out of her mind.
. She loses her temper,
(33 What do we know from the conversation?
A. The woman went to the concert,
B, The man gave the ticket to the woman.
(. The woman failed to go 1o the concert.
(4. Which of the following is TRULE?
A. He caught up with the other runners though he fell down.
B. He ran more slowly than the other runners,
(. He ran much faster than the other runners,
(5. What does the woman suggest the man to do?
A. To buy her some gifts.
B. To get her 1o see a flower show.
(. To take her to the garden.
S U R B s, BT e AT LN MU ) ALBLC
A I Y B TR A0 L I RIS 07 S O B 3 s T AR AT 1 T B A
/NS APl DRI A /N 5 R SO ) R X B L
WP 6 BObERL R ZRE 6 FIHY 7 L
{ 6. What size does the man take?
A. Fight, I3, Seven. (. Six
¢ 7. How much is the pair of shoes?
A. Three hundred dollars,
B. Thirteen dollars,
C. Thirty dollars,
Vi 7 B R 8 S 10 B
)8, At what 1limt- did the bus leave for Washington just now?
AL Five minutes 1o ten,
B, Ten minutes to ten.

C. Ten thirty,




19, Which bus will the man take?

A. Ten-five, B, Ten ten. C. Ten-thirtv.

)10, From where will the bus leave?

A, Track 6. B. Track 5, C. Track 1.
WP sy 8 Eebbkh, 25 11 25 13 .
111, How heavy is the package?

AL 120 kilograms. B. 12,5 kilograms. . 1. 35 kilograms.
)12, What is the cost if the package is mailed by surface?

AL $8.00, B. $2.5. C.
)13, How long does it take to China by air?

A. Two months, B. Two weeks, (. One week.

WA 9 BOMORL I SS 14 £ 16 j,

114, How did Peter and Marian go to London?
AL By air. B. By car. C. By ship.
115, What did Peter and Marian do in the evening?
AL They had a marvelous dinner together,
B. They went to see a marvelous film,
C. Theyv talked over marvelous coffee in a bar.
116, When did Peter and Marian arrive in London?
AL Five past elevern. B. Eleven, C. Five 1o eleven,
WS 10 Bebd okl IS 17 255 20 1,
)17, What are the “both of these things” implving”?
A. Go to grocery store for food and go to the bank for money,
B. Buy home computers and take course in programming,
C. Run their errands( X2 electronically and go shopping the *old-fashioned” wav.
)8, Why will people shop from house?
AL Because 1t is convenient and time saving,
B. Because they will simply talk to their home computers,
C. Because they can exchange their ideas with computers,
115, What does the phrase “to run errand( 25{d1) ™ mecan in the passage?
AL To go shopping.
I3, To do something.
C. To operate computers,
)20, What does the passage probably imply at the end?

10

AL Computer shopping will at last destroy old tradition,
B. Though time-saving. computer shopping might make people lazy.

C. Though convenient, computer shopping mav be too dull,
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(1. What did the man think of the movie?

A. The movie was good.

B. The story was good.

(. The photography was good.
(2. What does the man wish to do?

A. Goto a park. B. Park his car. . Turn his car back.
( 3. How much would a ten-minute call cost?

AL S 29, B. % 50. C. % 30.
(4. What does the woman imply about Sam?

A. Tt"s harmful for him to use his voice,

B. He needs to see a doctor,

C. It’s difficult to understand him when he whispers.
(5. What are the two talking about?

AL Books, B, Paintings. C. Clothing.

5. I 5 BOM T BB !fu{J JLAS /N MR i A A ALBLC
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(6. Where does the conversation most likely take place?

0
i

A. Ina bus. B. Un a train, C. In a subway.
(7. Where does the woman want to sit?

A. Heading backwards,

B. By the window.

(. Near the table.

WPss 7 BERARL . )25 8 4 10 L

()8 What kind of concert will the woman go to next Saturday?

A. A jazz concert,

B. A light music concert,

C. A classical music concert.
{ )9, What is the man’s number?

AL BOT95728. B. 90795278, C, 997549278,
¢ 310, When had the woman better call the man?

A, In the morning. before six,




{

(

B. At noon, twelve to fourtecn.
C. In the evening, after six.
WS 8 EORRL, A 11 B4 13

) 11, Who is the woman?

AL A landscaper. B. A teacher. (. A school register.

> 12. What does a student usually have 1o do before taking the advance sketching course?

AL Write a book.
B. Attend an alternoon meeting.
C. Enroll in another class,
) 13, What does the man give the woman?
AL Some paintbrushes, B A bouquet of flowers, C. Some drawings.
WEas o BERORL RIS 14 35 16 1
H4 Where does the conversation most likely take place?
AL At the railway station. B, At the bus station, C. At the atrport,
115, What will the man do about his lost suitcase?
AL Wait until 1t reported,
B. Report to the staff.
C. Forget i
116, Where does the man let the woman wait?
AL At the book shop.
B. The place where the suitcase 1s lost,
C. At the coffee shop.
WFa 10 BebA gl a5 17 43 20 i,
117, What did Scientists once think that men are different from animals?
A, Think. B. Learn. C. Doth A and B,
VB In what way are men really different from animals?
AL Men can understand things quickly,
B. Men can learn,
C. Men have learned to use language,
y19. Which of the following is NOT true according 1o the passage?
AL Apes can understand some things more quickly than hunians,
B. Apes cannot speak and think.
C. Apes have even learned a lot words,
120, What do scientists know now?
A. How do children learn,
B3, Why man can speak.

C. What Wappens when we speak,



